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a. Keep
V.
in order to the of heavy traffic in urban areas
shoppers can ____internet shopping
unemployment can be another chief element that increases the likelihood of
[ will keep and updated via email
governments should water free for everyone

government should necessary to tackle this issue.

the law.
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Answers

In order to mitigate/alleviate/tackle/address the problem of heavy traffic in urban areas

Shoppers can take advantage of internet shopping
unemployment can be another chief element that increases the likelihood of breaking the law.
I will keep informed and updated via email

Governments should make water free for everyone

Government should take necessary measures to tackle this issue.



